

Page 1 of 1

FDOT

Florida Department of Transportation

Vendor Ranking

Letting: 04251107 November 07, 2025 10:30 **Call Order**: 006 **Contract**: E4Y26

ΑM

District: District 4 Counties: BROWARD Fed Aid No: N/A

Contract Time: 730 AVAILABLE DAYS

Project(s): 43471155201 (*)

Contract Desc: BROWARD COUNTY PAVEMENT MARKINGS & SIGNING

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	SAFETY SYSTEMS BARRICADES CORP.	Responsive	Winning bid	\$1,890,618.50	100.00%
2	HORSEPOWER ELECTRIC, INC.	Responsive	Non-Winning Bid	\$2,299,131.30	121.61%
3	ACME BARRICADES LC	Responsive	Non-Winning Bid	\$2,558,525.00	135.33%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED: BEGIN DATE: 12/09/25 BEGIN TIME: 10:30 AM

END DATE: 12/12/25 END TIME: 10:30 AM

NOTE: The award amount shall be based on the budgeted amount of \$ 1,000,000.00 and not the contractors bid total over the two (2) year term of the contract.





Tabulation of Bids

Page 1 of 16

Letting:04251107November 07, 2025Call Order:006Contract:E4Y26District:District 4Counties:BROWARDFed Aid No: N/A

Contract Time: 730 AVAILABLE DAYS

Project(s): 43471155201 (*)

Contract Descr: BROWARD COUNTY PAVEMENT MARKINGS & SIGNING

The Improvements implemented by individual Task Work Order(s)/Work Document(s) under this Contract, consist of, but are not limited to, MOT (standard, arrow board, PCMS, traffic control officer), concrete (sidewalk, driveways), pavement markings (detectable, rumble strip, RPM, painted, thermoplastic, profiled thermoplastic), signing (single-column, multi-column, panel, sign strip, in-street assembly, tubular, object, delineator), enhanced sign assembly (AC-powered, solar-powered, ground mount, overhead mount, with beacon, remove beacons, remove assembly), and sod at various locations throughout Broward County.

WORK DRIVEN CONTRACT: The budgetary ceiling for this contract shall be One Million dollars and zero cents (\$1,000,000.00) over the two (2) year term of the contract.

The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific project needs. The Department does not guarantee any maximum or minimum quantity, any range of quantities, or the exact quantities shown for each bid item. The Department's estimated quantities and the Contractor's bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder; however, actual payment under the awarded contract will be based on actual quantities completed.

For this Contract in which specific sites are not identified at the time of letting, the Engineer will issue a Work Document. Work Documents will identify the location, description, amount of work to be accomplished, and the number of calendar days to complete the work

- PRE-QUALIFIED: Contractor must be pre-qualified.
- PERFORMANCE BOND: A Contract / Performance bond is required for this project.

PLEASE READ STANDARD SPECIFICATIONS FOR ROAD AND BRIDGE CONSTRUCTION FY 2025-26 (SECTION 7-13) FOR INSURANCE LIMITS.

Line No / Item ID Item Description	Alternate Quantity Units	(1) SAFETY BARRICAD		(2) HORSEPOW INC		(3) ACME BA	RRICADES LC
() indicates item is bid as Lu	ımp Sum	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	l Signing						
0005 0101 1 1	(1.000) 100,000.00000	100,000.00	100,000.00000	100,000.00	100,000.00000	100,000.00
MOBILIZATION- FOR WORI ORDER/PUSH BUTTON CC (DO NOT BID) 43471155201	NTRACTS	6					



Page 2 of 16

Florida Department of Transportation



Lettin	g : 0	4251107	November 07,	2025 Ca	II Order: 006		Contract:	E4Y26	
	No / Item ID	Alterna	te Quantity Units	(1) SAFETY SYSTEMS BARRICADES CORP.		(2) HORSEPOW IN		(3) ACME BAI	RRICADES LC
	•	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	Signing						
0010 TRAFFI	0102 14 IC CONTROL	OFFICER	40.000 HR	110.00000	4,400.00	134.00000	5,360.00	125.00000	5,000.00
0015 WORK	0102 60 ZONE SIGN		900.000 ED	1.00000	900.00	4.00000	3,600.00	0.50000	450.00
	0102 74 1 IELIZING DEV UM, OR LCD	ICE- TYPES I	1,000.000 II, DI, ED	1.00000	1,000.00	4.00000	4,000.00	0.50000	500.00
	ONGITUDINAL	ICE- PEDEST CHANNELIZ		3.50000	700.00	4.00000	800.00	1.00000	200.00
	0102 76 V BOARD / AD V PANEL	VANCE WAR	250.000 NING ED	25.00000	6,250.00	34.00000	8,500.00	10.00000	2,500.00
	0102 99 BLE CHANGE EMPORARY	EABLE MESSA	120.000 GE ED	50.00000	6,000.00	54.00000	6,480.00	10.00000	1,200.00
	0522 1 RETE SIDEWA WAYS, 4" THIO		5.000 SY	165.00000	825.00	190.00000	950.00	400.00000	2,000.00
0045 DETEC	0527 2 TABLE WARN	IINGS	75.000 SF	58.00000	4,350.00	90.00000	6,750.00	150.00000	11,250.00



Page 3 of 16

Florida Department of Transportation



Letting:	04251107	November 07,	2025 Ca l	l Order: 006		Contract:	E4Y26	
	/ Item ID Alterna	ite Quantity Units	(1) SAFETY BARRICAD		(2) HORSEPOW INC		(3) ACME BA	RRICADES LC
() indicat	es item is bid as Lump Sun	า	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
S	ECTION: 0001	Signing						
	346 71 1 JMBLE STRIP SET- NT	8.000 EA	845.00000	6,760.00	1,334.00000	10,672.00	1,500.00000	12,000.00
	370 1 2 ANCE TURF, SOD	10.000 SY	12.00000	120.00	15.00000	150.00	50.00000	500.00
SINGLE CO	'00 1111 DLUMN GROUND SIGN ', F&I GROUND MOUN' F	17.000 ЕА Г, LESS	615.00000	10,455.00	847.00000	14,399.00	1,200.00000	20,400.00
SINGLE CO	700 1112 DLUMN GROUND SIGN 7, F&I GROUND MOUN	17.000 ЕА Г, 12.0-	1,845.00000	31,365.00	2,267.00000	38,539.00	3,000.00000	51,000.00
SINGLE CC	700 1113 DLUMN GROUND SIGN 7, F&I GROUND MOUN		2,500.00000	42,500.00	2,600.00000	44,200.00	3,500.00000	59,500.00
SINGLE CO	700 1114 DLUMN GROUND SIGN 7, F&I GROUND MOUN' NG AREA FOR BACK T NS		4,050.00000	24,300.00	3,334.00000	20,004.00	4,000.00000	24,000.00
SINGLE CO	700 1211 DLUMN GROUND SIGN 7, F&I BARRIER TOP-M N 12 SF		2,850.00000	48,450.00	2,400.00000	40,800.00	2,500.00000	42,500.00



Page 4 of 16

Florida Department of Transportation



Lettin	g : 04	4251107	November 07,	2025 Ca l	II Order: 006		Contract:	E4Y26	
	No / Item ID	Alternat	e Quantity Units	(1) SAFETY BARRICAD		(2) HORSEPOW		(3) ACME BA	RRICADES LC
() ind	dicates item is bi	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	Signing						
	0700 1212 COLUMN GR BLY, F&I BAR .0 SF		17.000 EA OUNT,	3,325.00000	56,525.00	2,667.00000	45,339.00	3,000.00000	51,000.00
ASSEM	0700 1311 COLUMN GR BLY, F&I BAR HAN 12 SF		4.000 EA DUNT,	3,400.00000	13,600.00	2,400.00000	9,600.00	4,500.00000	18,000.00
	0700 1312 COLUMN GR BLY, F&I BAR .0 SF		17.000 EA DUNT,	3,950.00000	67,150.00	2,400.00000	40,800.00	4,800.00000	81,600.00
	0700 1500 ECOLUMN GR BLY, RELOCA		17.000 EA	400.00000	6,800.00	667.00000	11,339.00	750.00000	12,750.00
	0700 1600 ECOLUMN GR BLY, REMOVE		17.000 EA	45.00000	765.00	267.00000	4,539.00	150.00000	2,550.00
	0700 2111 COLUMN GRO BLY, F&I GRO 2 SF		4.000 EA LESS	3,250.00000	13,000.00	8,000.00000	32,000.00	6,500.00000	26,000.00
	0700 2112 COLUMN GRO BLY, F&I GRO		2.000 EA 12.0-	6,550.00000	13,100.00	8,267.00000	16,534.00	8,500.00000	17,000.00
	0700 2113 COLUMN GRO BLY, F&I GRO		2.000 EA 20.1-	7,385.00000	14,770.00	8,600.00000	17,200.00	9,500.00000	19,000.00



Page 5 of 16

Florida Department of Transportation



Lettin	ig : 0	4251107	November 07,	2025 Ca	II Order: 006		Contract:	E4Y26	
	e No / Item ID	Alternat	e Quantity Units	(1) SAFETY BARRICAD		(2) HORSEPOW		(3) ACME BA	RRICADES LC
	•	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	Signing	_					
0125	0700 2114		4.000	8,250.00000	33,000.00	9,267.00000	37,068.00	12,000.00000	48,000.00
		OUND SIGN DUND MOUNT	EA , 30.1-						
0130	0700 2115		2.000	11,400.00000	22,800.00	11,000.00000	22,000.00	16,000.00000	32,000.00
		OUND SIGN OUND MOUNT	EA , 50.1-						
0135	0700 2116		2.000	18,650.00000	37,300.00	14,400.00000	28,800.00	22,000.00000	44,000.00
		OUND SIGN DUND MOUNT	EA , 100.						
0140	0700 2117		1.000	23,450.00000	23,450.00	17,800.00000	17,800.00	26,000.00000	26,000.00
		OUND SIGN OUND MOUNT	EA , 200.						
0145	0700 2500		9.000	7,865.00000	70,785.00	6,000.00000	54,000.00	10,000.00000	90,000.00
	-COLUMN GRO 1BLY, RELOCA		EA						
0150	0700 2600		10.000	1,450.00000	14,500.00	1,334.00000	13,340.00	3,000.00000	30,000.00
	-COLUMN GRO IBLY, REMOV		EA						
0155	0700 3101		9.000	300.00000	2,700.00	640.00000	5,760.00	800.0000	7,200.00
	PANEL, FURNI ND MOUNT, U	SH & INSTALL P TO 12 SF	. EA						
0160	0700 3102		9.000	675.00000	6,075.00	907.00000	8,163.00	1,500.00000	13,500.00
	PANEL, FURNI ND MOUNT, 12	SH & INSTALL 2-20 SF	. EA						



Page 6 of 16

Florida Department of Transportation



Letting:	04251107	November 07,	2025 Cal	II Order: 006		Contract:	E4Y26	
Line No /		ite Quantity Units	(1) SAFETY SYSTEMS BARRICADES CORP.		(2) HORSEPOWER ELECTRIC, INC.		(3) ACME BARRICADES LC	
() indicates	item is bid as Lump Sum	า	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	CTION: 0001	Signing						
SIGN PANEL) 3103 , FURNISH & INSTALI DUNT, 21-30 SF	9.000 L EA	1,450.00000	13,050.00	1,507.00000	13,563.00	2,000.00000	18,000.00
SIGN PANEL) 3104 , FURNISH & INSTALI DUNT, 31-50 SF	3.000 L EA	1,850.00000	5,550.00	1,907.00000	5,721.00	2,500.00000	7,500.00
SIGN PANEL) 3105 , FURNISH & INSTALI DUNT, 51-100 SF	3.000 L EA	4,100.00000	12,300.00	3,640.00000	10,920.00	3,000.00000	9,000.00
SIGN PANEL) 3106 , FURNISH & INSTALI DUNT, 101-200 SF	3.000 L EA	6,655.00000	19,965.00	7,040.00000	21,120.00	4,500.00000	13,500.00
SIGN PANEL) 3107 , FURNISH & INSTALI DUNT, 201-300 SF	1.000 L EA	11,985.00000	11,985.00	10,440.00000	10,440.00	5,000.00000	5,000.00
SIGN PANEL) 3205 , FURNISH & INSTALI MOUNT, 51-100 SF	2.000 L EA	5,255.00000	10,510.00	5,000.00000	10,000.00	5,000.00000	10,000.00
SIGN PANEL) 3206 , FURNISH & INSTALI MOUNT, 101-200 SF	1,000 L EA	8,250.00000	8,250.00	8,400.00000	8,400.00	9,000.00000	9,000.00
SIGN PANEL) 3207 , FURNISH & INSTALI MOUNT, 201-300 SF	1.000 L EA	13,560.00000	13,560.00	11,800.00000	11,800.00	10,000.00000	10,000.00



Page 7 of 16

Florida Department of Transportation



Letting	j: 04	4251107	November 07,	2025 Ca l	II Order: 006		Contract:	E4Y26	
	No / Item ID Description	Alternat	e Quantity Units	(1) SAFETY BARRICAD		(2) HORSEPOW INC		(3) ACME BA	RRICADES LC
() ind	licates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	Signing						
SINGLE	, -	SH & INSTALL SE MOUNT INI D 12 SF		375.00000	750.00	2,400.00000	4,800.00	1,000.00000	2,000.00
SINGLE		SH & INSTALL SE MOUNT INI SF		580.00000	1,160.00	2,934.00000	5,868.00	1,250.00000	2,500.00
0215 SIGN PA	0700 3501 ANEL, RELOC	ATE, UP TO 1	9.000 2 SF EA	265.00000	2,385.00	400.00000	3,600.00	100.00000	900.00
0220 SIGN P <i>A</i>	0700 3502 ANEL, RELOC	:ATE, 12-20 SR	9.000 EA	685.00000	6,165.00	400.00000	3,600.00	150.00000	1,350.00
0225 SIGN PA	0700 3503 ANEL, RELOC	:ATE, 21-30 SF	3.000 EA	790.00000	2,370.00	534.00000	1,602.00	200.00000	600.00
0230 SIGN PA	0700 3504 ANEL, RELOC	:ATE, 31-50 SR	2.000 EA	1,500.00000	3,000.00	600.00000	1,200.00	200.00000	400.00
0235 SIGN PA	0700 3601 ANEL, REMO\	/E, UP TO 12	9.000 SF EA	50.00000	450.00	240.00000	2,160.00	200.00000	1,800.00
0240 SIGN PA	0700 3602 ANEL, REMO\	/E, 12-20 SF	9.000 EA	125.00000	1,125.00	267.00000	2,403.00	200.00000	1,800.00





Tabulation of Bids

Page 8 of 16

Letting	: 04	1251107	November 07,	2025 Ca l	II Order: 006		Contract:	E4Y26	
	No / Item ID Description	Alternat	te Quantity Units	(1) SAFETY BARRICAD		(2) HORSEPOW		(3) ACME BA	RRICADES LC
	•	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	Signing						
0245	0700 3603		9.000	200.00000	1,800.00	267.00000	2,403.00	200.00000	1,800.00
SIGN PA	NEL, REMOV	/E, 21 - 30 SF	EA						
0250	0700 3604		2.000	250.00000	500.00	334.00000	668.00	300.00000	600.00
SIGN PA	NEL, REMOV	/E, 31 - 50 SF	EA						
0255	0700 3605		5.000	615.00000	3,075.00	400.00000	2,000.00	350.00000	1,750.00
SIGN PA	NEL, REMOV	/E, 51-100 SF	EA						
	0700 13 12		2.000	95.00000	190.00	167.00000	334.00	125.00000	250.00
	REFLECTIVE : H AND INSTA		EA						
0265	0700 15 2		2.000	1,250.00000	2,500.00	700.00000	1,400.00	750.00000	1,500.00
	TALL- FIXED	SEMBLY, FUR BASE	RNISH EA						
0270	0700141140		3.000	8,385.00000	25,155.00	9,500.00000	28,500.00	6,500.00000	19,500.00
AC POW		Y SIGN ASSE ROUND MOU <12 SF							
0275	0700141150		3.000	8,695.00000	26,085.00	9,800.00000	29,400.00	7,500.00000	22,500.00
AC POW		Y SIGN ASSE ROUND MOU 12-20 SF							
0280	0700141160		5.000	9,975.00000	49,875.00	16,000.00000	80,000.00	9,500.00000	47,500.00
AC POW		Y SIGN ASSE ROUND MOU 2 SF							



Page 9 of 16

Florida Department of Transportation



Letting:	042511	07 Nove	ember 07,	2025 Cal	l Order: 006		Contract:	E4Y26	
Line No / It		Alternate	Quantity Units	(1) SAFETY BARRICAD		(2) HORSEPOW INC		(3) ACME BA	RRICADES LC
() indicates i	tem is bid as Lu	mp Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 0001	Sigi	ning	_					
0285 0700 ENHANCED H	141190 IGHWAY SIG	N ASSEMBL\	5.000 ′, EA	16,985.00000	84,925.00	17,000.00000	85,000.00	10,000.00000	50,000.00
AC POWERED BLANK OUT S	•	•							
	141360		5.000	14,655.00000	73,275.00	15,000.00000	75,000.00	15,000.00000	75,000.00
ENHANCED H AC POWERED BLANK OUT S), F&I OVERH		•						
0295 0700	141390		5.000	17,255.00000	86,275.00	16,000.00000	80,000.00	16,000.00000	80,000.00
ENHANCED H AC POWERED BLANK OUT S), F&I OVERH	EAD MOUNT							
0300 0700	142111		4.000	9,975.00000	39,900.00	17,000.00000	68,000.00	16,000.00000	64,000.00
ENHANCED H SOLAR POWE MOUNT, W/BE STATIC SIGN	RED, F&I GR EACON, UP TO	OUND	, EA						
0305 0700	142112		4.000	10,985.00000	43,940.00	18,000.00000	72,000.00	17,000.00000	68,000.00
ENHANCED H SOLAR POWE MOUNT, W/BE STATIC SIGN	RED, F&I GR ACON, 12-20	OUND	, EA						
	142121		5.000	12,650.00000	63,250.00	17,500.00000	87,500.00	17,000.00000	85,000.00
ENHANCED H SOLAR POWE MOUNT, W/2 E OF STATIC SI	RED, F&I GR BEACONS, UF	OUND	, EA						





Tabulation of Bids

Page 10 of 16

Letting) : 04	1251107	November 07,	2025 Ca l	l Order: 006		Contract:	E4Y26	
	No / Item ID Description	Alterna	te Quantity Units	(1) SAFETY BARRICAD		(2) HORSEPOW INC		(3) ACME BA	RRICADES LC
() indic	icates item is bio	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	Signing						
ENHANC SOLAR F MOUNT,	0700142122 CED HIGHWA POWERED, F W/2 BEACOI SIGN PANELS	&I GROUND NS, 12-20 SF	·	12,998.00000	25,996.00	18,500.00000	37,000.00	18,000.00000	36,000.00
ENHANC SOLAR P MOUNT,	0700142131 CED HIGHWA POWERED, F W/EDS, UP T SIGN PANELS	&I GROUND FO 12 SF OF	5.000 EMBLY, EA	16,985.00000	84,925.00	18,000.00000	90,000.00	23,000.00000	115,000.00
ENHANC SOLAR F	0700142132 CED HIGHWA POWERED, F W/EDS, 12-2 NELS	&I GROUND		17,650.00000	35,300.00	19,000.00000	38,000.00	24,000.00000	48,000.00
ENHANC SOLAR P	0700142140 CED HIGHWA POWERED, F HIGHLIGHTE	&I GROUND	·	11,995.00000	23,990.00	10,000.00000	20,000.00	25,000.00000	50,000.00
ENHANC SOLAR P	0700142150 CED HIGHWA POWERED, F HIGHLIGHTE	&I GROUND	·	12,690.00000	25,380.00	10,500.00000	21,000.00	15,000.00000	30,000.00
ENHANC SOLAR F	0700142901 CED HIGHWA POWERED, R N(S), SIGN TC	REMOVE	5.000 EMBLY, EA	1,950.00000	9,750.00	1,500.00000	7,500.00	16,000.00000	80,000.00
ENHANC	0700142902 CED HIGHWA POWERED, R			2,500.00000	12,500.00	1,500.00000	7,500.00	1,500.00000	7,500.00





Tabulation of Bids

Page 11 of 16

Letting	g: 04	4251107	November 07,	2025 Ca	II Order: 006		Contract:	E4Y26	
	No / Item ID Description	Alternat	e Quantity Units	(1) SAFETY BARRICAD		(2) HORSEPOW	•	(3) ACME BA	RRICADES LC
	•	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	Signing						
	OPLASTIC,ST		4.000 GM	11,750.00000	47,000.00	15,334.00000	61,336.00	20,000.00000	80,000.00
	OPLASTIC,ST ETE SURFAC	FANDARD- CES, YELLOW,	3.000 GM	11,750.00000	35,250.00	15,334.00000	46,002.00	20,000.00000	60,000.00
0360 TUBUL <i>A</i>	0704 1 3 AR MARKER,	36" WHITE PO	4.000 ST EA	185.00000	740.00	614.00000	2,456.00	300.00000	1,200.00
0365 TUBUL <i>A</i>	0704 1 4 AR MARKER, :	36" YELLOW F	4.000 POST EA	185.00000	740.00	368.00000	1,472.00	300.00000	1,200.00
0370 OBJECT	0705 10 1 Γ MARKER, Τ`	YPE 1	5.000 EA	235.00000	1,175.00	614.00000	3,070.00	500.00000	2,500.00
0375 OBJECT	0705 10 4 Γ MARKER, Τ`	YPE 4	5.000 EA	295.00000	1,475.00	827.00000	4,135.00	500.00000	2,500.00
0380 DELINE	0705 11 1 ATOR, FLEXII	BLE TUBULAR	100.000 EA	125.00000	12,500.00	154.00000	15,400.00	150.00000	15,000.00
	0705 11 6 ATOR, REPLA STING BARRI	ACE DELINEA [.] ER	75.000 TOR EA	165.00000	12,375.00	400.00000	30,000.00	150.00000	11,250.00





Tabulation of Bids

Page 12 of 16

Letting:	: 042	251107 N	lovember 07,	2025 Ca	II Order: 006		Contract:	E4Y26	
	No / Item ID Description	Alternate	Quantity Units	(1) SAFETY BARRICAD		(2) HORSEPOW IN		(3) ACME BA	RRICADES LC
() indic	cates item is bid	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	Signing						
DELINEA	0705 11 11 ATOR POST, F ON EXISTING		75.000 EA	125.00000	9,375.00	77.00000	5,775.00	150.00000	11,250.00
	0706 1 3 PAVEMENT M	IARKER, TYPE	75.000 B EA	6.00000	450.00	16.00000	1,200.00	15.00000	1,125.00
PAINTED	0710 11290 PAVEMENT RD, YELLOW,	MARKINGS, , ISLAND NOS	20.000 SF E	6.00000	120.00	16.00000	320.00	35.00000	700.00
THERMO	"FOR INTER	ANDARD, WHI CHANGE AND	3.000 TE, GM	8,125.00000	24,375.00	12,804.00000	38,412.00	15,000.00000	45,000.00
THERMO	2" FOR CROS	ANDARD, WHI SSWALK AND	600.000 TE, LF	3.85000	2,310.00	7.00000	4,200.00	14.00000	8,400.00
THERMO	8" FOR DIAGO	ANDARD, WHI ONALS AND	100.000 TE, LF	5.90000	590.00	7.00000	700.00	16.00000	1,600.00
THERMO	4" FOR STOP	ANDARD, WHI LINE AND	800.000 TE, LF	7.10000	5,680.00	13.00000	10,400.00	20.00000	16,000.00
THERMO	TED GUIDELIN	ANDARD, WHI NE/ 6-10 GAP	0.500 TE, GM	2,950.00000	1,475.00	8,434.00000	4,217.00	7,500.00000	3,750.00





Tabulation of Bids

Page 13 of 16

Letting	g : 04	251107	November 07,	2025 Cal	l Order: 006		Contract:	E4Y26	
	No / Item ID Description	Alternate	Quantity Units	(1) SAFETY BARRICAD		(2) HORSEPOW IN		(3) ACME BA	RRICADES LC
() inc	dicates item is bid	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	Signing						
	0711 11160 IOPLASTIC, ST .GE OR SYMBO	· ·	30.000 HITE, EA	250.00000	7,500.00	215.00000	6,450.00	500.00000	15,000.00
0435 THERM ARROV	0711 11170 IOPLASTIC, ST V	ANDARD, WH	200.000 HITE, EA	150.00000	30,000.00	154.00000	30,800.00	300.00000	60,000.00
0440 THERM YIELD L	0711 11180 IOPLASTIC, ST LINE	ANDARD, WH	200.000 HITE, LF	11.00000	2,200.00	31.00000	6,200.00	30.00000	6,000.00
	0711 11224 IOPLASTIC, ST W, SOLID, 18" EVRON		200.000 LF AL	5.95000	1,190.00	7.00000	1,400.00	16.00000	3,200.00
YELLO\	0711 11241 IOPLASTIC, ST W, 2-4 DOTTEI D EXTENSION	GUIDE LINE	0.500 GM /6-10	2,950.00000	1,475.00	7,667.00000	3,833.50	7,500.00000	3,750.00
0455 THERM MESSA	0711 12160 IOPLASTIC, RE GE	EFURBISH, WI	30.000 HITE, EA	95.00000	2,850.00	138.00000	4,140.00	300.00000	9,000.00
0460 THERM ARROV	0711 12170 IOPLASTIC, RE VS	EFURBISH, WI	30.000 HITE, EA	65.00000	1,950.00	138.00000	4,140.00	200.00000	6,000.00
	0711 14123 IOPLASTIC, PF SOLID, 12" F		1,000.000 LF ALK	11.00000	11,000.00	31.00000	31,000.00	30.00000	30,000.00





Tabulation of Bids

Page 14 of 16

Letting:	: 042	251107 N	ovember 07,	2025 Ca	II Order: 006		Contract:	E4Y26	
	No / Item ID Description	Alternate	Quantity Units	(1) SAFETY BARRICAD		(2) HORSEPOW IN		(3) ACME BA	RRICADES LC
() indic	cates item is bid	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001 8	Signing						
THERMO	0711 14125 DPLASTIC, PRI SOLID, 24" FO	EFORMED, OR CROSSWAL	1,000.000 LF K	22.00000	22,000.00	46.00000	46,000.00	35.00000	35,000.00
THERMO	0711 14160 PLASTIC, PRI MESSAGE	EFORMED,	30.000 EA	515.00000	15,450.00	844.00000	25,320.00	1,500.00000	45,000.00
	0711 14170 PLASTIC, PRI ARROW	EFORMED,	30.000 EA	425.00000	12,750.00	552.00000	16,560.00	1,000.00000	30,000.00
THERMO	0711 14660 PLASTIC, PRI ROUTE SHIELI	EFORMED, ML D	30.000 ILTI EA	2,565.00000	76,950.00	6,700.00000	201,000.00	5,000.00000	150,000.00
THERMO	ASPHALT SU	ANDARD-OPEN IRFACES WHI		7,625.00000	3,812.50	8,970.00000	4,485.00	15,000.00000	7,500.00
THERMO GRADED	ASPHALT SU	ANDARD-OPEN IRFACES, WHI R 3-9 LANE DR	TE,	1,925.00000	385.00	7,514.00000	1,502.80	7,500.00000	1,500.00
THERMO GRADED	0711 15201 DPLASTIC, STA DASPHALT SU J, SOLID, 6"	ANDARD-OPEN IRFACES,	0.500 N GM	7,365.00000	3,682.50	8,970.00000	4,485.00	15,000.00000	7,500.00
THERMO	ASPHALT SU	ANDARD-OPEN JRFACES,	1.000 N GM	1,865.00000	1,865.00	7,514.00000	7,514.00	7,500.00000	7,500.00





Tabulation of Bids

Page 15 of 16

Letting:	04251107	November 07,	2025 Cal	II Order: 006		Contract:	E4Y26	
Line No / Item I		e Quantity Units	(1) SAFETY BARRICAD		(2) HORSEPOW INC		(3) ACME BAF	RRICADES LC
() indicates item is	s bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	N: 0001	Signing						
0510 0711 1610 THERMOPLASTIC SURFACES, WHIT	STANDARD-OT	0.500 HER GM	5,760.00000	2,880.00	9,047.00000	4,523.50	15,000.00000	7,500.00
0515 0711 1613 THERMOPLASTIC SURFACES, WHIT OR 3-9 LANE DRO	, STANDARD-OT E, SKIP, 6",10-30		1,435.00000	717.50	7,514.00000	3,757.00	7,500.00000	3,750.00
0520 0711 1620 THERMOPLASTIC SURFACES, YELLO	STANDARD-OT	0.500 HER GM	5,600.00000	2,800.00	9,047.00000	4,523.50	15,000.00000	7,500.00
0525 0711 1623 THERMOPLASTIC SURFACES, YELL	STANDARD-OT	1.000 HER GM	1,425.00000	1,425.00	7,514.00000	7,514.00	7,500.00000	7,500.00
0530 0711 17 1 THERMOPLASTIC THERMOPLASTIC MARKINGS- SURF	REMOVE EXIST		3.25000	16,250.00	7.00000	35,000.00	5.00000	25,000.00
	0001 Signing S	Section Totals:		\$1,890,618.50		\$2,299,131.30		\$2,558,525.00
	Contract G	rand Totals:		\$1,890,618.50		\$2,299,131.30		2,558,525.00



11/07/2025

Tabulation of Bids

Page 16 of 16

Letting: 04251107 November 07, 2025 **Call Order:** 006 **Contract:** E4Y26

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.